6eNlaN)alBE66rU3

Que.1. 330} al@NEOM16)M (U@ x, M1B0 2x+5 Ho @RYWITI
a) 2380 BHI6MYds
b)al SN M) d:?
U] 5 ©V.0°1 GHWIDB D 1M AlABEU(D)?
Marks : (4)
Ans. a) 2(2x+5+x)=6x+10
b) x(2x+5) = 2x? +5x
) 2x5%+ 5x5=75
Que2. PX)=x+ax+b o ENIaMAIBO @3 p(1)=490 p(2)=9 Do @RYBYM).
a) p(x) af)PIORH?
b) p(3) WIOS N1RI a0)?
Marks : (5)
Ans.
p(1)=4 af)e)MSION a+b=3 af)(M) BHI6MMDY 1M

pP(2) =9 af)EMNSYOD) 2a+b=5 a)OM) HHIEMIM@ 1)
a=2, b=1 ag)(m H:06MM@ 10N

o= PX)=x+2x+1 (memeymyamoial
p(3)=16

Que.3. 3(0) 2lEOO 16M M1803x+2, (WY 2x-1 @YHQII
a)2}080 af)(0)?
b) alEUSOT af)Om?
Marks : (3)

Ans. 2)2}Q80 = 2(3x+2+2x-1)=10x+2



b) al@a8N] = (3x+2)(2x-1)= BX +x =2

Que.d. Plx =4x’+ax+1 ag)(m NIaN)al O @3 p(1)= 8 @RI
a) a @)eS Nilel ag)o?
b) p(2) &>96M)d?

Marks : (2)
Ans.
plx)=4x"+ax+1 o(1)= 8
a)4+a+1=8,a=3
b)p(2) =23
Que.5. p(1)=5 Oop(2)=8 Ho BRYQ BMMIoBI® | 6NIaNYalBo p(X)af)PYTND:?
Marks : (4)

Ans. p(x)= ax+b
p(1)=5a+b=5
p(2)=8 2a+b=8
a=3,b=2

p(x)= 3x+2
Que.6.

2O @8 6210 1Q 2l 160m Mo @O 160 @ G H6)IUE 3cm
BSYOLI06M. UL @M@ 16)M M180 ,6)210 QIO 16M
MIBEODEIUB 2 £SYMER0, WD ©210 W2 IEODT1ONR MISEONLHUS 1
HINORAIEM. 6121V 1@ IO 100 AU X af)O(MSYOT0)

a) 2l 068133)6)S umggmgoea(ﬁ dHIMYH?
b)alBNNBHE)E)S D> dHIGMIHXQ
Marks : (5)



Ans. a) 6)al01Q al@OOY0) 1600 (UU6BRUB = x,x+3

QU@ IO 1600 (UUWEBRUB = x+5,x+2

£)2l01Q 2I@O016)R al@edBN] = x +3x

e @O 16M alEad80 = x2 +7x+10

b)Y = 2x% +10x+10

Que.7. B@®) 2lONOOM16)M M180 UM IQIAS 3 MSEBRIBMBNIUT 2 B:ISIMEIOEN).
a) M8 M)ailaf186)0M NIn)alBo af)PIONDH:?

b)Yl 26)00.2°1 @YWITE M 180 )OI @ 1H6)0?

Marks : (2)
Ans.

AUl x @YW, M 180 3x+2
QU] x=2 M1830 = 3x2+2=8cm

Que.8. B®) 21O 16M M180 UM WIAS 40SEBRIBMHNIUT 3 BSIMEIIEN).
A1) x a)OMSIOTI0I

a) N80 af)0MIW @ 16607
b) alE80 af)MIQ @ 1He)0?
) @)1 3cm @RYWITB Al@BEYOU(®?
Marks : (3)
Ans.
a) M0 4x+3
b) al]BN =x(4x+3)=4x +3x

¢) al]80 =4 x32 + 3x3=45cm?



Que.9. 3(0) alMOBHSWINS M180 UM WIS 2056813 1BMHNIUE 630M)
DSYOLN0,9WE0 M BEOMHNIUE 2:,3S3LRAIEM. U@ xaf)e)MNSIOY0)
193213080 p(x), (U940 v(x) af)M U ANIaNAIBRIQ] af)PI@)HH?

Marks : (5)
Ans. 1O 1= x, M180=2x+1
OQ00=2x+3
p(x) =2(x+2x+1)=6x+2
v(X)=x(2x+1)(2x+3)
=4x3+8x*+3x

Que.10. RIo6NININEBRE ORI ACQM 1EMENIUE3 IEM Q) BSIMEIIWQ
QS0 1BHIM O 16)M
a)Rlo6NINUU6BRUBX OUBEISIMM NInMYaIBAIW ] af) PO E:?
b)alUSBN a(x) af)MIQ @ 1He)07?
Marks : (3)
Ans. £106NIOUUD6B1RUB x, x+3 OR x,x-3



